S1000 XR - SSEC GP

2020 and up

Pos Qty Part No.

1 1 900010

850004

N
-

750002

700021
14148
14055
14060
14092
64621
14070
300023
14088
64576
700039
300006

_ ot B A NN

222 a2 O0OO~NOO AW
PN -=O

Description
Muffier SSEC GP Titanium
Mounting Parts:

Adapter

Mounting Bracket
M6x16 Flange Screw Torx
Locknut M8

Washer M8

Rubber

Bushing D12x9

Bolt M8x35

Bolt M5x8 Torx

Pull Spring L=36 mm.
Clamp D63
Heatshield S1000 XR
Spring Pull Tool

Ordernumber

BM10S06 - SEGP - Titanium

Weight:
Stock: 24kg
Bos: 1,65kg

Noiselevel: @ 5500 rpm

Stock:  Specified 94,0 dB(A)
Measured 93,5 dB(A)
Bos: Measured 94,5 dB(A)

Performance

Stock: 169,5 Hp/ 11350 rpm

Bos: 170,1 Hp/ 11500 rpm

Max. Hpincr.: + 2,1 Hp / 10250 rpm
Max Nmincr.: + 1,6 Nm/ 9200 rpm

Tips
In order to avoid smudges and fingerprints

buming into the surface it is imperative to clean
the exhaust before starting the engine, bumt in
stains are very difficult to remove.

After 300 miles or 500 kms. check all nuts and
bolts and retighten if necessary.

Y BOS

EXHALSTS



$1000 XR-SSEC GP 2020 and up

6

OEM
Bracket

14

Use original bolts
for mounting this heatshield

12

biit] Nr.4, 10

10
it Nr.9
25 _
Nm. - & Don’t use this muffler
it Nr.12 in combination with your suitcases!

€1 001676 TPE 1028 www.bos-exhausts.company Y BOS

EXHALSTS



